02 1-x-y? o DA 1550] F3He Fololet (T, x,y o] AGE

=(x-1)(*-1)
=x-)Hr+1H-1)
kA AR} QIFE 9] 3 L5 (x-1)+(y-1)+(y+1)

x+2y—-1 ojtt.




2. e A4S ABastolat

X2 +dy+4) -y —4dy—4

>
> EE b+ Dx-1)(+2)°

xz(y2+4y+4)—y2—4y—4
=x*(+4y+4) - +4y+4)
= -1)(*+4y+4)
=x+1)(x-1)(y+2)?




= Al ax+bx+cx, a®—2ab

3.

x(a+b+c)

ala — 2b)

ax+bx+cx=x(a+b+c) , a®> - 2ab = a(a - 2b)




A

A

4n

® x+3 @x+2 ® 3x-13
@ 2x-3 ® x-10

A (x=3)?=2(x—3)-359F 2% + x— 6] FF AFE T

H, 232 +x-6=(2x-3)(x +2)
webd BEA St x4 2




o2 5 OFdA] a2 +3x 4+ 2, 2x%2 + 3x— 2 9] 3520 A5 AL
U z] QI4=E9] 9h2?

® x @ x+2 ® 2x+3

@3x ® 3x+1

¥ +3x+2=(x+1)(x+2)

2x2 +3x-2=(2x-1)(x+2)

25 AHE (x+2)0]T,

T AFE ALAY UHA e 2 (x4+1)+(2x-1) =
3xoltt.




6.

T O34 a? + b? — ¢? - 2ab, a® — b — ac — be ©] FF A=

@a—b—c @ a+b-c @ a-b+c
@ -a-b-c ® —a+b-c

~&B

a? +b%—c%—2ab = (a-b)* -2
=(a-b+c)(a-b-c)
a?-b?>—-ac—bc = (a+b)(a-b)-c(a+b)
=(a+b)(a-b-c)




la, ¢, bl +c, a, b
= (-a+c)(~a+b)+ (-c+a)(-c+b)
(a=c)(a=b-c+b)




S 2= 27ax? - 12ay? & HI2 ] Q1-E 5|

rok

Ao

@D (3ax - 3y)? @ 3%(3ax - 4ay)?

® 3a(32%ax - 4ay)? @3&(3)6 +2y)(3x - 2y)

® 3(9ax? - 4ay?)

27ax? — 12ay? = 3a(9x? — 4y?)
= 3a(3x + 2y)(3x — 2y)




< A& QI4E3] stefzh
a2—a+b2—2ab+b—12

> E.

> HE (a-b-4)(a-b+3)

B

a’?—a+b?—2ab+b—12
=a?-2ab+b*-a+b-12
=(a-b)?-(a-b)-12
=(a-b-4)(a—b+3)




